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· Part3:Kernel regression,Gaussian Process, SupportVector Machine

· Recall Ridge Regression
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Now consider
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· More systematic:
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Theoreticalunderpining
· Reproducing Kevel HilberSpace: (RkHs)

F =(f(x):h(x,TB,(81283
suppose f(x) =h(x)

+

B

g(x)
=

h(x)+

(f.9)7 =(3,27

(f(y =(f.f7x =18Pe

· Reproducing Property:

<f(x),k(X0,x)3k =h(x0)+B =f(x)

ht,3,(x)hLo
L
&

f

↑evaluated
from inner product

X0

In regular space we need hf,0x.]



sweep h(x), & under the rug
non-parametric regression:
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· Mercer Theorem:condition fork, sothoK(X,x) =(h(x),M(x)>
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